A6 F11H B

THRIFEZE G R
(2 & 3 )






1

\z

THIEEZBESER
ASFf64412H1 2H
BB M FF OB

G EEHEAMBERBEREESROABEBTAREICONT

B &

BLPIAHR « Bk F BT SRR IS I3 OVK TR HOH £ 1 L2 2R 0T © 40 72 A I A b 5 R A
DOWT, JRIEHAARL THEBEATHE 2N L, METHELIT O 20,

BEHFAETARTE 1,456,000 M 56 FE~SF164EE (114[H)

EEOHE
(£ AT
T H %
) ft]
FHHERNR

& AT (X

J RATH ABUPIAHRE « Bk FHHT R0 35 J2 OVEK F Bl S Hik Py
1, 456, 0001

T 6EE~TFIEE (1145[H)

S A AR, a7 U — NI




)

SHDRTTa1—)L (FFE)
BRTHE2H TEHITHEIC OV TRERERN

3H TR & ITEHERAT W E & i

EEFEE R6 R7 R8 R9 R10 R11 R12 Ris R14 R15 R16
JRIET
BRGTHS
HEMBEET g rE——
s — b Bk BEHEEITARE  11F 1,456,000 FH
FLE TR
e i T — IR ERNE
| RTE = - iR FENE
6 0 0 0 11 A B (s 2 ) ~ W ERRE 10 7= it~ 2 A s (W KR~ Wil
7 " & . o IRFEPHEG SRR~ SRR HE ~ 3 ) T35 5250)
8 IR 76,000 11800 20700 3500 Al1-P1, P6-A2 EBTARME T, S0P T., PEKiEaaliE T
9 | IR —" — - - P5-P6 FT TAIE T, SORBAE T, PEARRERATE T
> o) 5
| & P4-P5 SRBIE T, Pk iaais T
256,000 140,800 103,600 11,600] 5A2
u | P3-P4 EFET SOKBGEE T KR AE T
144,000 79,200 58,300 6,500| P4-P5 BB T
1o | R P2-P3 T ARE T, SOKBASE T, SEKiaRiiE T
310,000 170,500 125,500 14,000] P4-P5
13| IR P1-p2 L SOKBSE T, Pk ERAE T
210,000 115,500 85,000 9,500| P3-P4
14 JR P2-P3, P3-PA  BUSBHT
142,000 78,100 57,500 6,400
15 | IR A1-P2, P2-P3 Btk T
155,000 85,250 62,700 7,050
16 R Al-P2 SEMET.
R 93,000 51,150 37,600 4,250 ok
1,456,000 800,800 589,200 66,000
AT AT (5.5/10), AJEE Y5t (J6245800%)
= A ® g

B&L=146.040m

P2 P5 6 A2

PL myxm
RE#H#E

¥ i

A g AKEE{E K el FAERA
28 W=8.0m

Al~P1,P6~A2 P1~P6f

1 L7




TA6 1 1 AMIETFREREMHEE

OBBAHITARE
1 IR LWHESL VEFEE
EESER

"o 5

2 EEMEREREEX

[ X 4 |
% il
i 5
+ Iy
ié) iy
wopr

3 HMSHEXEBHFE
EENEYEE
T Fk

4 PEREZE

[ X 4 |
s fm )il
i i
] g
o) i
o) i

TRREZAR

& e

SfMmeHFE12H12H

s B

e

1B#R GERRERER)

e S
1E) B 55 [ 1 2 5

7R CEBHERR)
EX A
NGB RRIE D 1 AR
R4S MK AR
I AR IT A 1 AR
HIF 7 5
HELT 1 2 BfR

1 BE#R (GEBRHERFRR)
Ela
T K 2 [58] 4% 54 T 763
6 B (GEBHERR)
ElA
SR\ 2 5
£ D T i

mae— T H 3 5

VUIRAT
fihde 7 BAIE D 1 BRAR

.
by
H

[



@)

B XoEREE
[# X 4 |
= # H

B 4 EEWEMBREERESY
[ X 4]
2k =

THRAREREZE
[ X 4]
T *

HHARANY 77 ) —(bEHE
[ X 4 |
N 1

14 CEEHERR)

ETESEA
LR S

11 CEBHERR)

&Y x 54
A o EL A s B MR A

1aE (ARER)
A
T

1aE (AER)
N

J\ A R v 1 XA [




